Name:

1, 35+7.6
O 37.11 O 111
O 106 O 126

2. Carol bought a shirt and a pair of
shoes. How much did she spend?

$
3. 37.098 - 25.62
O 29536 O 11478
O 62718 O 12,036

4. 55 % as a decimal.

Cy 898 O 0.05

O 055 O 05
5. 33/4as adecimal.

O 375 O 375

O 0.375 O 3.34

6. 5263 x10= 52.63

5.263 x 100 = 526.3

5.263 x 1000 =
O b5263.3 O 5263
O 52630 O 526.3

7. 7865.45+10= 786.545

7865.45 + 100 = 78.6545
7865.45 + 1000 =

O 0.786545 (O 7.86545

O 78.6545 O 0.0786545
8. 3/sas a decimal.

O 0.375 O 13

O 138 O 1.375
9. 3986 x6=

10. Carol bought 7 shirts “ vt ,’
|

for $8.98 each. How
much did she spend?

$
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